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ta) Acctaldehyde + ZH' +2¢ — ethanol  *' = 0197
FAD + + 2H" 42¢c — FADH;  # = 0219V

U:.mg, above data, predict wht_thcr the conversion of clLClBlLth}LlL to cthanol h\
FADH, is feasible or not.

{ Assume that all concentrations of reactants and the products are 1M) :
O F - 96500 Coial™t ) | (20 marks)

{(b) In the photophosphorylation process, cor:ipare the light reaction with the dark
reaction. (10 mar ks)

{c) What are the three ways in which glucose provides energy for cells? (05 marks) A




td} Explain how pyruate is metabolized under aerobic and anaerobic conditions.
' ) {13 marks)

2. (a) Why is it necessary to convert free fatty acids to fatty acylCoA before undergoing
f oxidation? , (10 marks)

(b} Palmitic acid CHj3(CH,);4COOH
Stearic acid CH}.(CHz)}(,COOH

Show whether the stearic acid or palmitic acid produces more energy in terms of
ATP during p oxidation. Clearly explain each step in your calculation. (20 marks).




(c) What happens to acetylCoA when the citric acid cycle cannot oxidize all the acetyl
CoA? : {10 marks)

(d) Explain the connectivity of urea cycle with the citric acid cycle? . (10 marks)
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From above calcula
terms of ATP.




